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QUESTION 1

Which statement describes the role of an OSPF ABR? 

A. It is used to inject external routes into OSPF. 

B. It is used to export internal routes from OSPF. 

C. It is used to connect a nonbackbone area to Area 0. 

D. It is used to connect multiple nonbackbone areas. 

Correct Answer: C 

 

QUESTION 2

-- Exhibit -[edit] 

user@router# show routing-options 

graceful-restart { 

disable; 

} 

[edit] 

user@router# show protocols bgp 

graceful-restart; 

group my-group { 

type internal; 

local-address 192.168.1.1; 

neighbor 192.168.1.2; 

neighbor 192.168.2.2 { 

graceful-restart { 

disable; 

} 

} 

} 

-- Exhibit -You have configured your router as shown in the exhibit. 
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Which statement is true based on the graceful restart (GR) configuration? 

A. GR has been disabled globally for all protocols including BGP. 

B. GR is enabled for all BGP neighbors. 

C. GR is enabled only for BGP neighbor 192.168.1.2. 

D. GR is not supported with BGP. 

Correct Answer: C 

 

QUESTION 3

Which two link-state advertisement (LSA) types are allowed in a stub area? (Choose two.) 

A. LSA Type 1 

B. LSA Type 2 

C. LSA Type 4 

D. LSA Type 5 

Correct Answer: AB 

 

QUESTION 4

-- Exhibit -user@router> show ospf neighbor Address Interface State ID Pri Dead 

66.129.12.2 ge-0/0/2.0 ExStart 66.129.12.2 128 37 -- Exhibit -What is the reason for the adjacency state shown in the
exhibit? 

A. There is an authentication mismatch. 

B. There is a hello interval mismatch. 

C. There is an IP network mismatch. 

D. There is an interface MTU mismatch. 

Correct Answer: D 

 

QUESTION 5

How do two BGP peers signal their capabilities to each other? 

A. They include their capabilities in OPEN messages. 

B. They send UPDATE messages with their capabilities after the session is established. 
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C. They send CAPABILITIES messages before they send OPEN messages. 

D. The network operator must manually configure the capabilities on both BGP peers. 

Correct Answer: A 
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